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Solve each equation by using the Square Root Property. Round to the nearest
hundredth if necessary.

La—8v+16 2at+dr+d=1
83"+ 12v +36=25 44 —dr+1=9
Sattdr+d=2 6xt-2c+1=5
Tt -6 +9=17 8.x%+ 16v + 64=15

Find the value of ¢ that makes each trinomial a perfect square. Then write the
trinomial as a perfect square.

.2+ 103 + ¢ 10.6° — 1dx + ¢
1l + 24x +¢ 1252+ 5x + ¢
18.2% - 9r ¢ dxi-xte

Solve each equation by completing the square.

15,08~ 13x + 36 = 0 16.x% + 3x
170 +x-6=0 18.x% —4x—13=10
19.2¢% + Tr— 4= 20.3¢% + 20—

2132 + 8 — 2230 —x—

23.02= —11 2.2 -2 +4=0




